Multiplying by 2

Name: Class:

Fill in the boxes and find the products.

1][2][6][7][0 51[31/2][0]3
X 2 X X
417][51[4]2 41[5][2][3][0
X 2 X 2 X
9l[2][0][3][5 9l[2][9][6]0
X X 2 X
41[91[6l[2][0 51[0][7][0][0
X 2 X 2 X
81181/9][91[9 6l[81/7][51/2
X 2 X 2 X
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Answers

Fill in the boxes and find the products.

0 51[31/2][0]3
2 X X
0 1][0][6][4][0][6 1
2 41[5][2][3][0

X 2 X
4 9][0][4][6][0
5 9l[2][9][6][0

X 2 X
0 1][8][51[9][2][0
0 51[0][7][0][0
2 X 2 X
0 1][o][1][4][0][0 1
9 6//81/7][5]/2
2 X 2 X
8 1][3][7][5][0][4 1
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